Name: Date:

Teacher: Class:

Multiplication/Division 405

What has two tails, six feet and three trunks? An elephant
with spare parts.

Multiplication and Division

1. G4 +8-= 18. 48 +8 = % 80+8=
2. 3x8= 19. 2 x8= 3. 11 x8=
3 72+8= 20. 8+8= 396+ 8=
4 A4 x8= 2l. g x 8= 38 1 x8=
5. 24 +8= 2. 88+8= 9. 56+ 8=
6. 10x 8 = 23. §5x8= 40. 7 x 8=
7. 16+ 8= 24. 32+8= 440 +8 =
8 Qx8g-= 25. 12 x 8 = 42. 8x8=
9. G4 +8= 26. 16~ 8 = 43. 48 + 8 =
10. 3x8= 27. 3 x 8 = 4. 11 x8=
1. 40=8= 28. 80+ 8= o 72 +8=
122 10 x 8 = 29. 1 x8= 6. g x 8=
13. 64+ 8 = 30. 88+ 8= 47. 48 + 8 =
14 9 xg= 3. 12 x8= 8. 4 x8=
15, 24+ 8 = 3. 80+ 8= D 72+8=
16. 3x8= 33. 7x8= 0. 7x8=
17. 5§+ 8 = 4. 56 +8=
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64 +8=8

3x8=24

72+-8=9

4 x8= 32

24 -8 =3

10 x 8 = 80

16 +8=2
O9x8=72

64 -8 =8

3x8=24

40+-8=5

10 x 8 = 80

64 -8 =8

2x8=16

24 -8 =3

3x8=24

56 -8=7
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Answer Key

Date:

Teacher:

Class:

Multiplication/Division 405

What has two tails, six feet and three trunks? An elephant

with spare parts.

Multiplication and Division

48 -8 =06

2x8=16

8+-8=1

6 x8 =48

88 +8=11
5x8=140

32+8=4

12 x 8 = 96

16 +-8=2
3x8=24

80+8=10

1x8=28

88 +8=11

12 x 8 = 96

80+8=10

7 x8 =56

56 -8=7
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80+8=10

11 x8 = 88
96 +8=12

1x8=28

56+8=7
7/ x8= 56
40+8=5
8x8=064
48 +8=06
11 x8 = 88
2+8=9
9x8=72
48 +8=06
4 x8= 32
2+8=9
7/ x8= 56
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